11M

&esrastiwim g I.EI'I“SLII._I_I'J. Qurgis Cxraymer
Dyenywra il Ourgs Cxiay, yabut - 2014

- eugiuy 11 | www.tnschools.co.in

&neotb: 3.00 wenfl - @>ewd gHun HLCLems 200

uss - &

SMuy: 3mmmﬂm@mw S5l
Gan@ssUulL  preéng dleisaild  wWsaubd gr_d)usml..u.l dieeLuilever  GoibesGHS!
s@ﬂa 40x1=40

1) A=[2 3 6] aep @ienfulen aufiens

ca)ix3 . b) 3x1- ) 2x1 . d) 1x1

2)

3)

4)

3)
6)
: ”
8)

9)

10)

11)

12)

227 e
0 .

‘a) Gwed (_Lpe'r:(Sarrswf acovﬂ b) 8bwaCamenr el C) FgiT el d) YEAW Siewf

a b ¢ _ o
A=1% b G Al =2 aefie |3A]6r gy

183 b G
a) 54 b)6 ' c) 27 _ d) -54

L23 pB12 |
spifemefsy-
a) A - b) ~A - ¢) 3A d) -3a
xX+a b c : '

g X g b xi arébTp SielEGHnemeuniien @ smrewf

a) x byx+b C) x+c : d) x—a+b+c
AL T sra'srjn eugpssedler LI |
a) 56 b) -56 e =1 | - d)-63
ABCDEF eétip @ @WheE @1@1 - Gameur s & edr a@g;(ﬁgg &M UsSHISETTe

.AB BC wemeor PG &, b areréd @gﬂuml_l_rrsn EF srsmug.j

a) 3 b) 5+5 ) 23 S d) b

ﬁ=KA_C" aeafied (K g Sevsudsd) |

a) A, B, C @@ GamlLenwol uemerlseir b) A, B, C G ger uereflser

C) AB, AC 6 erssoremotenemeume g d) A, B, C syfwiemen gCr Lietaflenws @nlsdms
ABC s @iy G arn g 65745, O i 5 Bgtb o el arefs OF + OF + OC =

_2'

a) o b) 0G ©) 30G - d)40G
/

- 3] erétrm QeusLifletr apm_ssiiLetell (-1, 5, 8) aefled wigeus uateflufin HemeaeusLT

a) 37+2j+8k  b) 37 +27+8k ¢ -37-2j-8K  d) 37 +2j-8k

P, Qeir BeveaeubLitast 27 +37 - 7K, 47 - 37 + 4k aefiéd PQ et fewes QanemFetser
2 6 11 22,7 .6 il -
?) o1’ Jie1'Vier P Jie1’ viei' viel ©)2,-6,11 d)1,2,3

@wsamusdr 3, 4,5, 6, 7, 8, 0 spfwapenp iSeor@Go uu.lsaTu(Bg,g,rrg,surrgj 2 maumsEh 4

Beoss eresora el eir sremmﬂaama

a) 720 b)840 ¢) 280 : - d) 560



1iM

- 13);

14)

15)

16)
17)
18)
19)
20)

21)
22)

23)
24)
25)

www.tnschools.co.in

2
Qb Ueo CanemisHh© 44 cpsmed el Lge 2 _eanasefled Sigetr Lssmusefler aeefisans
a)ltr - b) 7.

_ c) 8 d) 12
(x-2y)Ber efifleunéagded o _dren 2 miliuserlsin erstoreniiéens
a) 13 b) 14 : c) 12 d) 15
(1+x)?* o1 eflfleungasged o_erem 2_mliysafler Gevamisaflsr sLaUMLES
a) 24C,, b) 24C,, =€) 24C5 . d) 24C,,
FRBIILIL & SToTH MG 60T Fn(BH6D .
a) 2n b) n? . Ey2n d)n+17
a, b, ¢ eeruenan A.P.ullér @apBamed 32, 3°, 3¢ aaTUmA ......... ABTLMADH BHEESLD
a) A.P. b) G.P. _ eHP d) A.P. and G.P.
14243+ areoTp a@mLfledr wpped 25 & mililseafler FnEH6 -
a) 305 b) 325 6).315 ' d) 335 _
5, 13, 29 s8w acormenen sifhg eretoTanTEd Fal lpeuTTed Gieney G.P.edr & miliysenTs wrpib?
a) 2 " b)3 c) 4 ~d)5

o G.P. ér gpaied 2 piiy 1. aperpreug whHoib Seugl e miiusefien saBsed 90 aeafied,
Sipetn aung ellfsb ‘ 5

a) £2 . b)-J10 - c) £3 _ d) -3
a, b, c geremen A.P. syseub G.P. syseud SoufNer -
a)a=b=zc b)azb=c cazb=c dya=b=c
: 2 3 T g
eX = 1+X+2—|' + %(*—l' +ieinns ETEOTUGI 6TTHE DSLILSEHHES L 6TTTRDLD
a)=1<x<1 b)-1<x<1 C) erébeom QDUIGILIERTEBET X d)x >0
X SiFAHG Beweonimer GrisGamiiper FWweTun® _
ayx=90 byy=0 c)x=K d)y=K"
2x-3y+1 = 0 erebrp Cri&GsnL e miiey .
a)-2/3 - b)-3/2 ) 202 d) 3/2

&pssremiib b5 CriaCan® X+Y = 0 e CrisCaM_1gHE OFMIGSHSIDE0, SenemTLLE0 ?

Ta)y=x b)y-x+2=0 C) 2y = 4x+1 d) y+x+2=0

26)

27)

28)
29)
30)

31)

32)

53]

34)

h? = ab &5 &m&EWGuUTE ax’+2hxy+by? = 0 & sweérunLnes asneoL Ceme
CrraCasn@Gaeaisr GanLCw 2_crer CamasPer Siene)

a) 7, b) T ) % a) 0°

2x+3y = 0, 3x-2y = 0 aéruemea QG el Lsd6ér Breao@ efllLrusafler FwsTUTES6
erefléd SiHeT epWILILeier] e '

a)(1,-2) b)(2,3) ) (0,00 d) (-3, -2)
o@m Gripwe eretug (Umepsudien)

180° x 180° %
3) 437 - D) 1500 ) . - d) Tg0°

wralliusswd OpTLésLLEsWD 8r GriaGariysd aiisfameuilsd SIMLHSTE
SieupBler emLliul L Gamesrid

a)oe - b)oo0° _ c) 180° d) 270°
s(s-a) (s-b) (s-c) =" | -
a) A " b)-A? c2K ~ _ d) A/S
cos B = ’ _ - '
L 2 +at-b? (o e Febid b
@) 2ca b) 2bc . C)_ 2ab o) 2ab
37
A-=—7| =
P
a) sec A b) -sec A c) cosec A d) -cosec A
sin 2A = ; _ .
2tan A 2tan'A

27 _ gin? o EEENE o -9 cin2
a) cos®A - sin‘A 'b) T tan? A c) kAT d) 1-2 sin‘A
grflwimer sapml erg?
1) awliewensafen HemTb (b eplgul Seoord
2) seopuiden ecmseafer sansdenear [0, «) aaré GllufLeond
3) [3, 7] erétim sewrid 3 wphpib 765 SemLGwi £ eter Guied eredoTaerledt &ewrid
4) (2, 3) erétrp @evorib [2, 3]ebr 2L sewTD



. : www.tnschools.co.in
11M 3
35) f: R—R*; f(x) = x? e uEDpWMISSTED f 1
a) GuHBaniisse Sioe 4 b) geTmiE® qeTm Sisved
C) CunGanissHed WHDID @eu‘ruas@ @eTm sieo  d) sy Sieved
36) sflwnen sapl a6 eTemeu?
i) eulLé#& sniysefler smiusld R Sp&D
i) tan enmfer efiFsasd R SHGD
iii)} cos smmdledr sﬁsaas(r_.pm sin enimfer efiFFawd QETHTGLD
iv) cot enmier emfuad R-{Kn} s&wb

a) sieaTsgib b) (i) (iii) ~¢) (ii) (iii) (iv) d) (iii) (iv)
37) thnO 2 ;3 = |

a) log (3/2) b) log (2/3) c) log 2 d) log 3
s Jm, 22 _

a)l b) 0 C) oo d) e
39) f(x) = |x| eréorp &mity

a) x = Oed eprLIFAWINeTE b) x = Oeb apnLAEAWHOE

c) X = 06 auevtinsawnas asrLrFdwbpgs -d) X = 06 LOUESWNS OFTLTFAWDDS

40) f(x) = {K"’ r XS 2 e sming X = 2 evémp Liselusie> it ALmenne Gaiie Kb o

a) 3/4 b) 4/3 cr1 _ d)o
. ueh - &
sPuy: 13 10 demésapse oL weafissalb. 2) pavang ciomsiisb LK 6.
3) el @t 556 2 s<opuuns  deLweldsenb, Opdlemssafidfiphn 0 ©
dieméserse  eleLweafidsab. 10x6=60
1 a ai
41) i ? fc’z = (a-b) (b-c) (c-a) arer Hius.
la b ¢ A B. G|
42) A= gi gza gz,Al,Bl,Clsrs&mansnal,bl,clﬁ‘@anam&&ngamﬂmsmﬂéa A % gz3 = A2
. ereor Hlemidl.

43) @5(‘3&rrsmm ABCéir ussusermer AB wHib AC s fweupriler pGLLeTeMsem (pennGu
D, E eretrpmed BE + DC = A'BC e BLB6.

44) -7 - 27 + 3k, 27 + 37 4k , 7] + 10k - GI‘G'GITlID Hleweo QeuslL liBaneatsd QsmesorL Lemeflaser
- @Gy GamiLevw yerafiser erer Hemid.
3x+7
40 Xt=3x+2 _
46) i) nP, = 20 nP; &5 @mLler Netr HLIL STedTE.
i) nC,, = nC,, aafles 23C & snewrs.

47) 10 usssruse SiLREW asMGUIdBHE 4 usssmaer SpasseorL HUbHSmaTHEELEHE
2 LULE assomer afisald Gsie asiwemb? (i) aps e s.Guumgens (i)
ghaarCe @@ UsssmseT Coiey arwiLLE eflLLogealeo (i) Sran® GBludiL
usssmsmensd Coiey AFLSHO Fal MGl

48) 3 whpib 17660 e CuneT 6 salBF FrnFMsceans smers.

49) 3/126 éir WHlDU 2 HFLGHTRTEEHES SHHHLONEG BTERTE.

50) A(-2, 3), B(4, -5) ereiruer @muetefiser PA2-PB2 = 20 erettp &LGUUNLIRHES SewTius
BHa®HL Lereaflufier wiriu@Geuenguier FwerUm® wrgl?

51) 3x+4y-p = 0 aeéorp GasnLneng x2+y2-64 = 0 aarp QL LESDG OSTEEsTLIQSHS

o flw sLEIUNE sreTs. - '

8l uedl Verarhisenns DTHDIS.



11 ' . '
"%2) Bii: /3 Sin X + COS X = 2 4 www.tnschools.co.in

53) tan™ (%] - tarﬁ-l (%)=% aar Hpas.

- - lim  2sin® x +sinx -1
) memptss.x ‘*% 2sin® x —3sinx +1

55) a] A= [3{ :ﬂ arefies A2 = KA-2I ersipeurgy Kufler wgiiepus srers.
(OR)
b] drés: %+l >0, x=1

X1

_ ues - 8
ePiuy: 1) 10 demssmss deoLwsaissand. 2) gdoanm oemadpheb wpHiOussr 10
3) diemr e 704 Ssstgiuns cfeLweldsenb,  Np olemsseidmbm ©

 dlemsagrss  aleLwealibsaib. 10x10=100
a+b+c —bc -b
©—C a+b+c -3 -
5_6) _b “a . a+b+d - 2(a+b) (b+c) (Cf_a) erest [Hmiels.

57) 2 +3j+4k, 37 +4j+2k, 47 +2]j+3k eén Heoe OeusLisemes OsmeRTL
: LeTefaeT Qb FUGES waGETemTSHebr e FAlenefimer erer Bmieus.
- 58) @@ wsGsanausder pGECarEGaet Gy UeTelulled shHoGID aar Hpies.

- : n(n+1)(n+2) : :
59) 1.2 + 2.3 3.4 ¥..opnss + n(n+1) = 3 - , NeN ereTuge s Beliss
TGS 560 eweold sMLBs.
ax* 3V - )
60) [T_ﬂ) e eflfleunsssFed x-g& sngng (wrPled 2 piiy) & piifievers smems.

61) x Wau aufiwg eefied Vx? +25-yx2 +9 =% \((Sgprrgrru.[mrraj aer Bepliss.

62) a,b @rer@b eusuBGeaummer Wlenas erevraeT erevfied ' -
(i) AM,, G.M., HM. spfwiemen G.P.6d Bm&@ID eTeoTed

(i) A M. > G.M. > H.M. aerayb Hepilés.
.63) x-y-5 =0, 2x-y-8 = 0 wpmib 3X-y-9 = 0 s CrraGan@aenes ubsHsMTES

QaneoTL paCanausBer FRGETL( WSS BTGNS,

64) 4x-3y~12 = 0 aep Crpr&EGETLEHEG 3 SIOGEET AFHESE SMISH0 Y-1&dér g erer
yereflaenens &MeiTs. J

65) (1, 2) eréitm Lee auflé QFGOE snipugIb X2+y2 = 9 wHmb X2+y2-2X+8y-7 = 0
TETM ULLIBSEDETE QFRIGSHHTE Q16 BeuFIDmeT Ul LSS FaTUTL DL STes.

66) A+B+C = 180° erevfiéb cos 2A + cos 2B - cos 2C = 1~4 sin A sin B cos C erer Bmieus.

67y _SiN300°. tan330° . sec420° _ _\/g .
) cot135° . cos210° . cosec315° V3 % Bpieus.

B—C:' b+c . A

68) cos > = sinE ereor Hmies. |
: ZL 4 1
. 69) X @@ ewlawer aefieo f(X) = %;—;ii erébTm Enmile efiFssh |:§r 3] eren [Hlemid.
1 2 3 _1 . . 2 2 2 . .
70) a] A= |5 |, B= aeofled (A+B)? # A2+2AB+B? srerss sl Bs.
| (OR)

bl 12x2+7xy-12y?-x+7y+K = 0 eéruz SrlevL CrnisGanGasvams @Blszsme Ker

wgly sneors. Cueyd Bns CriaCGsn@aefar seofsseal Foearur@senemwib

SimausEHsE SenL iUl L Canarbansub sneors. ‘
-X=X-X-X~ -



